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[1]   [a]  [b]  [c]  [d]  [e]  [f] 
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[4] [a]  3   [b]  3   [c]  12   [d]  6   [e]  36   [f]  3  
 
 

 



 
[5] [a]  angular speed = π24  radians/minute, radius = 96.7  feet 
 [b]  angular speed = π2  radians/year (or 0007164.0  radians/hour), linear speed = 66626  miles/hour 

[c]  angular speed = 64.2  radians/minute, 38.2  minutes to complete one cycle 
[d]  angular speed = 2

3π  radians/second, linear speed = 2
21π  inches/second 

 
[6] [a]  4577.0−  [b]  6561.0  [c]  8391.0−  [d]  0946.1  [e]  1906.0−  [f]  1887.1  
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[10] [a]  29
295  [b]  2

29−  [c]  5
2−   [d]  29

292−  [e]  2
5−  

 
[11] [a]  you = 49.139  feet above ground, your friend = 75.9  feet from base of elevator 
 [b]  funicular’s track  = 919  meters, top of hill = 553  meters higher than base 

[c]  23$  on Jan 1, 61.29$  on Mar 1, 39.39$  on Sep 22 
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